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LY Uy AR T JEER H=40 & 3. 3+ = 3
BT ER
vy -rEEL UEIH)L/\—F800%800 m3 32| 09 x 35 = 315
t 74| 315 x 235 = 740




DIP-GX ¢ 400mmickKERRT HEFHES

&8 0% :DIP-GX ¢ 400mm:L=319.946 (319.178) m

sk F T #Y:1.20m~1.66m NO. 1
E 4 R A
I £ 2 i & =
FH [£1]
@400
#EHI+ T D1 TEEEERE)  m | 2732 163 501  + 2068 = 2732
@400
fEHI+ TD-2 TEEEERE) | m 39.7) 28 36.9 = 397
TBRK 53 I ¢ 400
EEETO MEEEERR) | m 29 29 = 29
TBRK 53 I ¢ 400
7 i M Q)] MEEEERR) | m 29 29 = 29
@400
EELT® MEEEERR) | m 23] 23 = 23
EE BERE
SR ¢ 400 &3 92| 52 40 = 92
EfTE B A ¢ 400 &3 777 = 77
[+8T1]
BEMRRER-51HR W=250 +I®-1 +I®
H=20m 1EB%{R #iA-BliR m | 2755 2732 2.3 = 2755
BEMRRER-51HR W=250 +I®-2 *IB +I®
H=25m 23 (R #iA-BliR m 455| 397 29 + 29 = 455
TITd-1 +TI®
TBHTEFE - WET TRXE m | 2755| 2732 23 = 2755
TITD-2 S E)) +I®
TEHXRJE-BWET 2B 1R m 455 397 29 + 29 — 455




Bk DIP-GX ¢ 400 B)EFHE SRt - BUNVESE RO = 0.97m Y& = 1.02m
K K .
W # o | R o | oww | D)
FE R E S|1FE R E X R | E S|1FE K K SFE BRE &
o= @ GX | 1.605| 8 GX | 1912 GX | 1.163 4680 | 1320 3 1 4
1.61 23 7% 23 1.91 1.16
= @ | GX | 4510 GX | 1.276 5786 | 0.214| 2 2
451 7% 7% 7% 7% 1.28
o= ®  GX | 3.445 GX | 1.800 5245 | 0755 2 2
3.45 23 7% 54 0z 1.80
= @ GX | 3.010 GX | 1.806 4816 | 1as4| 2 2
3.01 7% 7% 7% 7% 1.81
o= ® GX @ 2133 GX | 2.850 4983 1.017]| 2 2
2.13 23 7% 54 0z 2.85
= ®  GX | 1.882 GX | 1.650 3532 | 2.468| 2 2
1.88 7% 7% 7% 7% 1.65
o= @ GX | 3.445 GX | 1.500 4945 | 1.055| 2 2
3.45 % 7% 54 V23 1.50
= GX | 1.739 GX | 2.000 3739 | 2.261| 2 2
1.74 7% 7% 7% 7% 2.00
% DIP-GX ¢ 400(17&%%) L = 6,000 8 & 37.726| 10.274| 17 1 18




hLT FHLHY it R OB
WoA | EE ey rE TR M % || W S| K e n ] W
+T ©-1 T ©-2

IP.1 — 1.20 — — IP.3 — 1.20 — —
IP.2 0.655 1.20 1.20 0.786 IP.4 0.463 1.66 1.43 0.662
IP.3 15.645 1.20 1.20 18.774 IP.5 1.850 1.66 1.66 3.071
IP.6 0.463 1.20 1.43 0.662

IP.6 — 1.20 — —
IP.7 5.075 1.20 1.20 6.090 IP.12 — 1.20 — —
IP.10 18.445 1.20 1.20 22.134 IP.13 0.463 1.66 1.43 0.662
IP.11 22.000 1.20 1.20 26.400 IP.14 2.156 1.66 1.66 3.579
IP.12 4.530 1.20 1.20 5.436 IP.15 0.655 1.65 1.66 1.087
IP.16 4.663 1.66 1.66 7.741
IP.20 — 1.20 — — IP.17 0.655 1.66 1.66 1.087
IP.21 159.097 1.20 1.20 190.916 IP.18 0.545 1.66 1.66 0.905
IP.22 31.970 1.20 1.20 38.364 IP.19 27.305 1.66 1.66 45.326
IP.23 14.492 1.33 1.27 18.405 IP.20 0.463 1.20 1.43 0.662

IP.24 0.545 1.33 1.33 0.725

IP.25 0.655 1.33 1.33 0.871
& i 273.109 328.901 & i 39.681 65.444
TTHER = 273.109 m TR = 39.681
XY = 328.901 <+ 273.109 = 1.20 m EH WY =  65.444 + 39.681 = 1.65

JE o WA TR Sead 5 A JE R = R 55 T




fktT

S Skt 4 1 S S
; = YT %D : ; = YT %D ‘
W ow | B8 Mrgor vl [T wa] ™ % || W 2| B% Mgy v | mw | @
+T
EP-2.150 — 1.40
IP.25 2.300 1.33 1.37 3.151

a 8 2.300 3.151 o 2

TR 2.300 _m T TR

DA w4, 3.151 =+ 2.300 = 1.37 m PR Y =

JE o WA TR Sead 5 A JE R = R 55 T




hLT FHLHY it R OB
WA | B e —— i B W | M e ——— i
A
SP — 1.20 — — IP.17 — 1.66 — —
IP.1 1.951 1.20 1.20 2.341 IP.18 0.545 1.66 1.66 0.905
IP.2 0.655 1.20 1.20 0.786 IP.19 27.305 1.66 1.66 45.326
IP.3 15.645 1.20 1.20 18.774 IP.20 0.463 1.20 1.43 0.662
IP.4 0.463 1.66 1.43 0.662 IP.21 159.097 1.20 1.20 190.916
IP.5 1.850 1.66 1.66 3.071 IP.22 31.970 1.20 1.20 38.364
IP.6 0.463 1.20 1.43 0.662 IP.23 14.492 1.33 1.27 18.405
IP.7 5.075 1.20 1.20 6.090 IP.24 0.545 1.33 1.33 0.725
IP.10 18.445 1.20 1.20 22.134 IP.25 0.655 1.33 1.33 0.871
IP.11 22.000 1.20 1.20 26.400 EP 4.437 1.40 1.37 6.079
IP.12 4.530 1.20 1.20 5.436
IP.13 0.463 1.66 1.43 0.662
IP.14 2.156 1.66 1.66 3.579
IP.15 0.655 1.65 1.66 1.087
IP.16 4.663 1.66 1.66 7.741
IP.17 0.655 1.66 1.66 1.087
AN F 239.509 302.253
AN F 79.669 100.512 & & 319.178 402.765
TTHER = 79.669 m TTHER = 319.178
EE Y = 100.512 + 79.669 = m ¥ Y = 402.765 <+ 319.178 = 1.26

JE o WA TR Sead 5 A JE R = R 55 T




T T & E £ M X
No. 1 NO. 1 TTD-1 NO. 2 +TD-2 0.3 +I® NO. 4 +I® NO. 5 +I® NO. 6 SPTiE NO. 7 BiEEI NO. 8
400mm DIP-GX BoK & 273.2 “EE L 39.7 “EE L 2.9 “EE L 2.9 SR L 2.3 SR L 92.0 =& N 71.0 =& N R L
R L R L R L R L R L =& N =& N R L
£ i iR 1’ & &t
AsEhZERR 2.00 546. 40 2.00 79. 40 2.00 5.80 2.00 5.80 2.00 4.60 642.00 )| ( 640 )
ST t=15cmLF m
As#fiZERR BHO. 45m3 1.00 273.20 1.00 39.70 1.40 4.06 1.40 4.06 1.00 2.30 1.00 717.00 400.32 )| ( 400 )
SERRBE T [t=10cmA T m2
BHO. 45m3 1.53 418.00 1.98 78. 61 2.56 1.42 1.94 5.63 1.70 3.91 0.60 55.20 1.59 122. 43 691.20 )| ( 690 )
A ERIE T Myt m3
BHO. 45m3 0.49 133.87 0.49 19.45 1.30 3.77 1.30 3.77 0.49 1.13 0.60 55.20 0.49 37.73 254.92 ) ( 250 )
HEET BER m3
BHO. 45m3 0.60 163. 92 1.05 41.69 0.84 2.44 1.12 3.25 0.77 1.77 0.66 50. 82 263.89 )| ( 260 )
HWIERT FEEL m3
(RC-40) 1.00 273.20 1.00 39.70 1.40 4.06 1.40 4.06 1.00 2.30 1.00 717.00 400.32 )| ( 400 )
TEREBT t=15cm m2
(RC-30) ) ¢ )
TEREBT t=10cm m2
(RM-30) 1.40 4.06 1.00 2.30 6.36 ) ( 6)
T ERRAET t=20cm m2
(RM-30) 1.00 273.20 1.00 39.70 1.40 4.06 1.00 717.00 393.96 )| ( 394 )
LT ERRAET t=15cm m2
BRI A s20mm 1.00 273.20 1.00 39.70 1.40 4.06 1.00 717.00 393.96 )| ( 394 )
ERE{R1E 8 t=5cm m2
BAEZHLAs20mn 1.00 273.20 1.00 39.70 1.40 4.06 1.40 4.06 1.00 2.30 1.00 717.00 400.32 )| ( 400 )
ERE{RE 8 t=5cm m2
BitunT 0.86 234.95 0. 81 32.16 1.63 4.73 0.70 2.03 0.84 1.93 0. 86 66.22 |#EA~| 342.02 324.90 )| ( 320 )
(£8) 4tDT m3 brid: -17.12
BiusT 0.10 217.32 0.10 3.97 0.14 0.4 0.14 0.4 0.10 0.23 0.60 55.20 0.10 1.70 95.24 ) ( 95)
(AS) 4tDT m3
2 AE 0.24 65.57 0.24 9.53 0.33 0.96 0.33 0.96 0.24 0.55 0.24 18. 48 96.05 )| ( 96.1)
AS#% t
B EE (EE) 1.00 273.20 1.00 39.70 1.40 4.06 1.00 717.00 394.0
B E{RE B (5-5-15-15) m2
TEEE (RE) 1.00 273.20 1.00 39.70 1.40 4.06 1.40 4.06 1.00 2.30 1.00 717.00 400. 3
B E{RE B (5-5-15-15) m2

EERKELRLES CRXA=REHH




T I % E Bt E &
No, 1
WA =  (D-1 DIP$400 L= 273.2 m
BIEIE B = il H= 1.20 m (V%)
R = 0430 X 0430 X x / 4 = 0.145
= H e = X X =z /J 4 =
Im2%47
% EA H | #& & i =
BRI T
AsBFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.45m3
AsEERERR t=10cmid 1.00 X 1.00 = m2 1.00
et 1. BHO.45m3
- A - FEE A 1.00 X 1.00 X( 1.63 — 0.10 )= m3 1.53
PHECT BHO.45m3
LRI AT 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
HEEZ T. BHO.45m3
LN A 1.00 X 1.00 X 0.60 = m3 0.60
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
RS T (RM-30)
t=15cm 1.00 X 1.00 = m2 1.00
BRIETIRE IH (FAE HI#7As20mm, A 7))
t=5cm 1.00 X 1.00 = m2 1.00
BRIETIR G IH (FAE B #7 As20mm, A 7))
t=5cm 1.00 X 1.00 = m2 1.00
T 1. 4DT AL WAL
FEAS 177 1.53 —( 0.60 = 0.90 )= m3 0.86
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.10 = m3 0.10
ZNE
TAT7 /iR 0.10 X 235 = t 0.24

LEERKELEES XA =REHT




T I % E Bt E &
No,2
Wrg#EsS = (D-2 DIP400 L= 39.7 m
BIEIE B = il H= 1.65 m (V%)
B = 0430 X 0430 X /4 = 0.145
= H e = X X =z /J 4 =
Im2%47
% EA H | #& & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.45m3
AsEERERR t=10cmid 1.00 X 1.00 = m2 1.00
AT BHO.45m3
- A - FEE A 1.00 X 1.00 X( 2.08 — 0.10 )= m3 1.98
PHECT BHO.45m3
LRI AT 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.45m3
LN A 1.00 X 1.00 X 1.05 = m3 1.05
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=15cm 1.00 X 1.00 = m2 1.00
FEIETIRET I (FEAE K5 A s20mm, A F7)
t=5cm 1.00 X 1.00 = m2 1.00
FEIGTIRET I (FEAE B b As20mm, A T7)
t=5cm 1.00 X 1.00 = m2 1.00
T 1. 4DT AL WAL
FEAS 177 1.98 —( 1.05 = 0.90 )= m3 0.81
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.10 = m3 0.10
ZNE
TAT7 /iR 0.10 X 235 = t 0.24

LEERKELEES XA =REHT




T I % E Bt E &
No,3
WrEES = @  DIPg400 L= 2.9 m (THKDIE)
B B = il H= 1.20 m
R = 0430 X 0430 X gz / = 0.145
B = X X z / =
Im2%47
% B EA H | #& & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.45m3
AsEHLER t=10cmbl 1.00 X 1.40 = m2 1.40
A T. BHO.45m3
B LI - - BEE - 1.00 X 1.40 X ( 2.03 — 0.10 )— 0.145 =| m3 2.56
PHECT BHO.45m3
LN AR 1.00 X 1.40 X 1.03 — 0.145 = m3 1.30
HHEE T BHO. 45m3
BN FEAE A 1.00 X 1.40 X 0.60 = m3 0.84
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=15cm 1.00 X 1.40 = m2 1.40
PRI I (FEAE A S 20mm, A7)
t=bcm 1.00 X 1.40 = m2 1.40
PRI I (FEAE B A s 20mm, A 7))
t=bcm 1.00 X 1.40 = m2 1.40
AT 4DT AL WAL
AL | 256 —( 0.84 +~ 0.90 )= m3 1.63
FEFH T 4DT
TGS TR bEE 1.00 X 1.40 X 0.10 = m3 0.14
PN
TR77 /b 0.14 X 235 = ¢ 0.33

LEERKELEES XA =REHT




T I % E ft B &

No,4
WriEES = (@D DIPg400 L= 2.9 m (THKDIE)
B B = il H= 1.40 m
B = 0430 X 0430 X /4 = 0.145
U = WriaiE (KL y) = 1.040

Im2%47

% B EA H | #& & i =

BRI T
AsBFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.45m3
AsEHLER t=10cmbl 1.00 X 1.40 = m2 1.40
A T. BHO.45m3
B LI - - BEE - 1.00 X 1.40 X( 2.23 — 0.10 )— 1.040 =| m3 1.94
PHECT BHO.45m3
LN AR 1.00 X 1.40 X 1.03 — 0.145 = m3 1.30
HHEE T BHO. 45m3
BN FEAE A 1.00 X 1.40 X 0.80 = m3 1.12
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=20cm 1.00 X 1.40 = m2 1.40
PRI I (FEAE A S 20mm, A7)
t=bcm mZ2
PRI I (FEAE B A s 20mm, A 7))
t=bcm 1.00 X 1.40 = m2 1.40
T 1. 4DT AL WAL
AL | 1.94 —( 1.12 <+ 0.90 )= m3 0.70
FELH T 4tDT
TGS TR bEE 1.00 X 1.40 X 0.10 = m3 0.14
PN
TR77 /b 0.14 X 235 = ¢ 0.33

LEERKELEES XA =REHT



+ T 2 i B &
No, 1
g5 = DIP$400 L= 2.3 m
BIEIE B = il H= 1.37 m (V%)
B = 0430 X 0430 X /4 = 0.145
= H e = X X =z /J 4 =
Im2%47
% EA H | #& & i =
BRI T
AsBFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.45m3
AsEERERR t=10cmid 1.00 X 1.00 = m2 1.00
et 1. BHO.45m3
- A - FEE A 1.00 X 1.00 X( 1.80 — 0.10 m3 1.70
PHECT BHO.45m3
LRI AT 1.00 X 1.00 X 0.63 — 0.145 m3 0.49
HEEZ T. BHO.45m3
LN A 1.00 X 1.00 X 0.77 = m3 0.77
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=20cm 1.00 X 1.00 = m2 1.00
BRIETIRE IH (FAE HI#7As20mm, A 7))
t=bcm mZ2
BRIETIR G IH (FAE B #7 As20mm, A 7))
t=5cm 1.00 X 1.00 = m2 1.00
T 1. 4DT AL WAL
FEAS 177 1.70 —( 0.77 = 0.90 )= m3 0.84
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.10 = m3 0.10
ZNE
TAT7 /iR 0.10 X 235 = t 0.24

LEERKELEES XA =REHT




= =
= ft & &
No, 1
B s = 2P DIPg400 L= 0.8 m
B B = il H= 0.60 m
= R = X X T /
= R = X X T /
157240
% B 20V
AR T
AsFIEEIR t=15cmLL T m
ERLRERAF T, BIHO.45m3
ASFFRER t=10cmLL T m2
LRI L. BHO.45m3
1 B A - EE - 1.00 X 1.00 X ( 0.60 m3
PHECT BHO.45m3
SN A 1.00 X 1.00 X 0.60 mJ3
PHECT BHO.45m3
LN FEAE A m3
TR T (RC-40)
t=15cm m2
RS T (RM-30)
t=15cm m2
BRIETIR G IH (FAE B #7 As 1 3mm, A 7))
t=3cm mZ2
FELH T 4tDT BEl = AL
FHAH L4 0.60 —( 0.00 -+ m3
FELH T 4tDT
FFIAB TAT7 Nk m3

EIN ¢
TA77 /bR

LEERKELEES XA =REHT




+ T 2 i B &
No, 1
B s = HHH DIP$400 L= 1.35 m
BIEIE B = il H= 1.26 m (V%)
B = 0430 X 0430 X /4 = 0.145
= H e = X X =z /J 4 =
Im2%47
% B EA H | #& & i =
BRI T
AsBIF_t=15cmLL T m
PLERIE 1. BHO.45m3
AsEERERR t=10cmid 1.00 X 1.00 = m2 1.00
AT BHO.45m3
- A - FEE A 1.00 X 1.00 X( 1.69 — 0.10 m3 1.59
PHECT BHO.45m3
LRI AT 1.00 X 1.00 X 0.63 — 0.145 m3 0.49
T BHO.45m3
LN A 1.00 X 1.00 X 0.66 = m3 0.66
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=15cm 1.00 X 1.00 = m2 1.00
BEITIC 1A (FFAEHIFEAS20mm, A 7))
t=5cm 1.00 X 1.00 = m2 1.00
BEITIC 1A (FFAE LA s20mm, A 7))
t=5cm 1.00 X 1.00 = m2 1.00
T 1. 4DT AL WAL
FEAS 177 1.59 —( 0.66 = 0.90 )= m3 0.86
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.10 = m3 0.10
ZNE
TAT7 /iR 0.10 X 235 = t 0.24

LEERKELEES XA =REHT




FoAKRE  AEEAEIRT EEHE  No.4
G| AR O A z\ HAL| BoE Ft EE
AsBid (Fzgim) (3-5-15-15) fE#E (t=3cm)  922.0 AsEEE 922.0 m2
SEE A (A AR AstiidE (F2il) (5-5-15-15) B EE (t=10cm) 19.4 AsEEE 19.4 m2
Askfidt (H38) (3-10) HIE S 128.4 AsHEF 128.4 m2
sEERE T ERAERR BT AsEHEERT + t=15cmEL_F30emEl HiE ait m
AsERSERR + 15emPA T HE  437.7 HE 97.5 ait 535.2 m m 535. 2 535
AEE IR EIHEI B (R A% + TR BEEEIRLY 317.0 i + 5.1 i =322.1 nf
(k2 - ThiEHaE)
(3cmBIH1) BERRE L (hlis +THEHE BEEEIRLY 239.3 nf + =239.3 8 &F 561.4 nf
A IS IR A B/KE RAHLE T THEHE BrnkEEELY 6.4 M + =6.4 nf
(k2 - ThiEHaE)
(5-5-15-15) BERR B AH1E T THEHE BrukEELY 44 o + = 4.4 nf Gt 10.8 m
@%%H}iﬁ&ﬁ? ﬁﬂ7k%? fﬂ%ﬁ% j:J_%%JF% %ﬁfﬂ?ﬁla L 6.4 m +2.3n =87mn
(fﬂ%ﬁ% . }j‘ﬁ) U NN g o) 2 B 1 s i
BEER B (it T T4EEE BmEEIELY 63.4 M + = 63.4 nd G 72.1 nof
AELERRIR A GEERE) | TE HOE (t=10cm) APEEARE IR mMEE  19.4 - {AEmAE 108 = 8.6 m
S APEEARE IR MRS 1284 - {AEMmAE 72.1 = 56.3 m
AR R AsEliZERR « t=10cmPL T EEE 922.0 + HEHE 19.4 + TEANE 128.4 m2 1069. 8 1, 070
AsEEERR « t=15cmbL F40emPL T + m2
ST (AsEY) i HEE (t=3cm) It wa
T . R AE f=oen 922.0 X 0.03 + X 0.10 = 27.7 m3
. R B T S B
1138 #LE (t=10cm) 10.8 X 0.05 + 8.6 X 0.10 = 1.4 m3
. {aigE B &%
TEAE 721 X 003 + 563 X 003 = 39 m &8t 33.0m3 | m3 330 -
Aspse N3 33.0 X 2.35 t/m3 + X 2.35 t/m3 = 7.6t ¢ 7.6 7.6
+T Pl Wt (%2 0) OsEAsf AL 10.8 X 0.07 + 0.76
@ HiEAs R G X 0.02  + m3 0.8 0.8
FEAE L FEA A m3 0.8 0.8
T A m3 0.8 0.8




BOKE  BREEAEIAT BEEFER  No.4
i i | HLOR B z\ HAL| HE At BHE
SPEEAREIR T | REEEEIE HE R T - AR HIE AR A (A T A 19.4 m2 19.4 19
HRIEHE T - AR HEEEEAE AmAE 1284 m2 128. 4 128
G- -8 () ﬁiﬁfﬁrg(lg) * t=oem SRR NG 922.0 me | 922.0 922
FIE (HH) i%iﬁrg (20) - t=bem OWEARKEEE 19,4 n2 19. 4 19
g (dH) Vi%%%ﬁrg(zo) * t=bem SEEAM NG 19.4 m2 19. 4 19
#E (FiH) V{;ﬁfﬁiﬁﬂﬁ(w) * =3em SEEIATERE 1284 m2 128. 4 128
ESE e B PN T 7 FEf - B - W=15emifi XEHIERFTHEE LY m 183. 7 184
fil#R « 1A - W=15emifa i KEFIERFHEE LY m 25.9 26
FEf - - W=4bemff KEFIERFHEE LY m 41.1 41
RH1- S0 FE S W=15emi B | KEMRIERHEELD m 7.9 8
FEHR - FE - W=15emifa Wk 2.1 x 3 AT m 6.3 6
Wz -EBET | LA W - HIHERHEELY m 14. 4 14
WoERER Ty s WL - HRALEFHEELD m 3.6 4




H OB 1 sAER  F A OE muswn)

FLEIL SRR IH AsYIkr
Y HoOHE W R R - O 5 S YNt R
[As t=3cm (3-7-15-15)]
BIEIA— N— 1A
3. 80 3. 80 1 3. 80
7.3 4. 00 3.90 28. 47 7.30 1 7.30
1. 60 2. 40 1 2. 40
©) 15.7 1. 60 1. 60 25.12 15. 70 2 31. 40
® 38.7 1. 60 1. 60 61.92 38. 70 2 77. 40
6. 1. 60 1. 60 9.6 6. 00 2 12. 00
2.90 1. 30 1 1. 30
3.4 2.94 2.92 9.93 3. 40 1 3. 40
10. 74 7. 80 1 7. 80
2.8 10. 55 10. 65 29. 82
3. 60 6. 95 1 7.00
® 28. 4 3. 04 3.32 94. 29 28. 40 1 28. 40
@ 40.0 3.21 3.13 125. 20 40. 00 1 40. 00
24.5 3.27 3.24 79. 4 24. 50 1 24. 50
1.6 3.85 3.56 5.70 1. 60 1 1. 60
9.1 3.85 3.85 35.04 9.10 2 18. 20
1.6 3.36 3.61 5.78 1. 60 1 1. 60
® 3.2 3.36 3.36 10. 75 3.20 1 3.20
® 40.0 3.52 3.44 137. 60 40. 00 1 40. 00
©) 40. 0 3.77 3.65 146. 00 40. 00 1 40. 00
14. 8 3.55 3. 66 54. 17 14. 80 1 14. 80
7.2 3. 64 3. 60 25.92 7.20 1 7.20
1. 60
7 1. 60 1. 60 13.92 8.70 2 17. 40
2 1. 60 1. 60 14. 72 9. 20 2 18. 40
1. 60 1. 60 8.6 5. 40 2 10. 80
(=X 921. 97 419. 90
[As t=10cm (5-5-15-15)]
TH#x
3.50 3.50 1 3.50
2.7 3.50 3.50 9.45 2.70 1 2.70
7.90 2. 80 1 2.80
0.2 7.90 7.90 1. 58 0.20 1 0.20
9.95 2.05 1 2.10
1. 9.95 4. 98 7.97
0. 4. 30 2.15 0.43
9.95 1 10. 00
(=X 19. 43 17. 80
EAETE IH & 941. 40 437. 70




H OB 1 sAmR B A E (musmn)

ELE RS EEEARTIE IR AsUIMr
H AR i e W 3 ¥ E & L& E0 BTt &
X T
FHR (A -W=15cm)
MR - B2 7. 4+5. 4+5. 5+9. 3+12. 2+17. 6+7. 2+27. 0+43. 6+15. 5+26. 3+2. 0+4. 7 = 183. Tm
A (K1 -W=15cm)
7.9+8. 0+10. 0 = 25.9m
FHR (A -W=45cm)
fEIEHR 3. 143.0 = 6.1
BEWrA=TE 156, 2+11. 4+3. 2 = 29.8
Y77 5.2 = 5.2
i 41. lm
PX ]
505 (3 -W=15cmffa %)
HAT M (EAY) 7.9 = 7.9m
k- HBET

LA 7.242. 4+1. 2+1. 2+1. 2+1. 2 = 14. 4m




#H B 2 spAER 3 A OE s

FLEIL SRR IH AsYIkr
Y HoOHE W R I LR ] ¥
[#5EAs  (3-10)]

FE A 0. 00

1.7 1.89 0.95 1.62 2. 60 1 2. 60

©) 15.2 1.86 1.88 28. 58 15. 20 1 15. 20

15.9 1.73 1. 80 28. 62 15. 90 1 15. 90

14. 0 1.77 1.75 24. 50 14. 00 1 14. 00

0.2 1.55 1.66 0.33 0. 20 2 0. 40

4.9 1.55 1.55 7.60 4. 90 2 9. 80

0.3 1.72 1.64 0. 49 0. 30 2 0. 60

© 4.0 1.79 1.76 7.04 4. 00 1 4. 00

5.3 1.77 1.78 9.43 5.30 1 5.30

2.1 0. 00 0. 89 1.87 2. 80 1 2. 80

/R 110. 08 70. 60

O~ 2. 90 2.90 1 2.90

1.6 90 2. 90 4. 64

2.20 1 2.20

/NEt 4. 64 5.10
@O~ 0. 00

1.0 0.95 0. 48 0. 48 1. 40 1 1. 40

1.75 0. 80 1 0. 80

1.2 1.75 1.75 2.10 1. 20 1 1. 20

1.75 1 1. 80

/NEF 2.58 5. 20

DO~ 0. 70 0.70 1 0. 70

1.2 70 0. 70 0. 84 1. 20 1 1. 20

0. 70 1 0. 70

/NEt 0.84 2. 60
HE& AR 1. 20

2. 1. 30 1.25 2.50 2.00 2 4. 00

1. 1. 60 1.45 2.32 1. 60 2 3.20

3. 1. 60 1. 60 5. 44 3. 40 2 6. 80

/NEF 10. 26 14. 00

IR IHEE 128. 4 97.5




I R spAER 3 A OE s
SRS SiAE AN AsUI
B BB W F ¥ T B EE | &% GEEE
ik - BB
R 70 v s 1.8+1.8

= 3.6m




HPPE® 100mmBtkEfRT HEHES

EFE - O7%: HPPE ¢ 100mm: L=6.528 (5.490) m+9.803(9.575) m=16.331(15.065) m

fhas 5 £ 91U:0.62m~1.80m NO. 2
g 4 R A
I/ £ & FBHKTE iy F EYR #H Z
(2)] 0.350 0350 x( 1 1 + ) = 0.700
H#H | GXF 7230V RTEE 400X ¢ 100 12
JKEEKE A EE
RYIFLUE ¢ 100 x 5,000 7 2 DERELY = 8339 YEA
RUTFLUER B
EF90° ALK ¢ 100 x 90° 1@ 2| 0500 0500 x( 2 + ) = 1.000
RUTFLUER [T
EF45° AR ¢ 100 X 45° 1& 5 0.380 0380 x( 5 + ) = 1.900
RUTFLUER A%
EF11 1/4° RUR $100% 11 1/4° & 2| 0.400 0400 x( 2 + ) = 0.800
FIFLVER
PEHEL A7V EE $ 100 7.5K 1& 1 0.460 0460 x( 1+ ) = 0460
RUIFLUER
EFVrybk ¢ 100 & =
RUTFLUER
PPEE1S $100 75K & 1 0.090 0090 x( 1 + ) = 0.090
FIFLVER
EF750V 818 ¢ 100 7.5K 1& 0.180 0180  x( + ) =
FIFLVER
EF750Y g 28 ¢ 100 7.5K & 2| 0320 0320 x( 1 1+ ) = 0640
PEHE O {FY7h - L 815 ¢ 100 & 0.860 0860 x( + ) =
VI - £ ¢ 100 7.5K & 2| 0.250 0250 x( 1 1+ ) = 0500
PPYaA bk ¢ 100 & 2 0.064 0064 x( 1 1 + ) = 0128
RUIFLUER
SO IFUY A F-R G100%x $50 75K | 1@ 2 0177 0177 x( 1 1 + ) = 0354
RUIFLUER
PEELONTEE $100x ¢p75 75K & 10790 0790 x( 1 + ) = 0790
7.5K
N ki L v $75x150 1& 1 1 = 1
INISRER S $25 75K & 1 1 = 1
DIPH (i 2 b
THKETFEE ¢ 100 x ¢ 100 & 2 0315 0315 x( 1 1 + ) = 0630
wisHA
730V wEE R ¢75 75K 1& 1 1 = 1
730V HEE R ¢ 100 7.5K 1& 4 2 2 = 4
RF-GF3E 2 T#
770V 0 Ay ¢ 100 7.5K ® 4 2 + 2 = 4
RF-GF3k AR ERHE
73990 Ak ¢ 75 7.5K % 1 1+ = 1
RF-GF3k AR HRK K
I3V MEMH $100 7.5K UFyh | #f 2 1+ 1 = 2
GFH'AfryM B ERHE
170V FHH $75 75K SUS #H 1 1 + = 1
Ry H=500 X 1 1 = 1
Ry H=1000 X 2 1 1 = 2
EEEE = 16.331
BEEER To# ERHE AHfK
EHRT—F W=50 m 14.4 16.331 - 0.500 0790 - 0.630 = 14411
HPPEZE R 7R BHERN BEE
BEIBEHER)-T ¢ 1008 m 21.6 16331 % {60 (1 4+ o01) + 500 = 21557
BRIRBEER 100mz4Y)
F4or5—7 ¢ 100 m 10.0 16331 X 612 100 = 9995
TILS THEIER To# ERHE AHfK
HEAESE—F W=150 21% m 13.1 15065 -  0.500 0790 - 0.630 = 13.145




HPPE® 100mmBtkEfRT HEHES

R EH: T #Y):0.62m~1.80m NO., 2
g 4 R A
I/ £ & FBHKTE Bl % 8 BHE =
HH
® 250 H=0.70 H=1.40 H=1.65 H=1.80

HUFAKE CH181ry'R " 4 1 1 + 1 + 1
T A ¢ 250

LY Uik )R ALY H=50 | {& + +
T A ¢ 250

LY UiRy) R YUY H=100 @A 1 1 + +
T A ¢ 250

LY Uik ygR L TEREE H=150 @ {& 1 1 + +
T A ¢ 250

LY Uik ygR L TEREE H=300 @ {&@ + +
T A ¢ 250

LY Uik yIR LEBBE H=150 1& 3 1 + 1 + 1
T A ¢ 250

LY Uik'yhR hEREE H=100 & 1 + 1 +
T A ¢ 250

LY Uik'y9R hEREE H=200 1& 1 1 + +
T A ¢ 250

LY Uik'yhR hEREE H=300 & 6 1 + 2 + 3
T A ¢ 250

LY Uik'yhR TEBEE H=300 1& 3 1 + 1 + 1
T A ¢ 250

LY Uik'yhR JEEB(FfZ) H=40 {& 4 1 1 + 1 + 1

¢ 500 H=0.60

ERAAGE mR3s % 1 1

XA ¢ 500

LY ukyhR L& H=200 & 1 1

XA ¢ 500

LY vik'yhR T& H=200 1& 1 1

XA ¢ 500

LY uik'yhR T# H=300 1&

XA ¢ 500

LY uRyhR JEEB (FfZ) H=40 @ {& 1 1




HPPE® 100mmEckKEThRT HEFHES
- 18 : HPPE ¢ 100mm; L=6.528 (5.490) m +-9.803 (9.575) m=16,331(15.065)m

T #1:0.62m~1.80m NO, 2
g 4 R A
I/ £ & FBHKTE Hl % 8 #H Z
[#E#T] mhE HEFH S
HFHE | RYIFLUGREHAT ¢ 100 m 15.2| 16331 — 0500 - 0.630 = 15.201
(1a#%F) 90 45 A1
EFffF T ¢ 100 &Lz 16 2 X 2 + 5 2 2 = 16
UIERELY
RUTFLUEYT ¢ 100 =] 9 9 = 9
To# mE2
ISUCHET ¢ 100 7.5K [m] 6 2 x 2+ 2 = 6
=S
ISUCHET ¢ 75 7.5K [m] 1 1 + = 1
HORFET ¢ 100 - 20 2 o+ = 2
RUIFLUER PP1 PPYa{ub HHF-R
ANZAIBFT ¢ 100 O 9 1 + 2 x 2 2 2 = 9
ERAHFET $25 75K = 11 + -
DIPFH
THKERT @100 x ¢ 100 T 2 2 = 2
ERRT—IT W=50 m 144 EHEEY = 14.411
#HET—T
BEIRENER - HET ¢ 100 m 16.3| 16.331 = 16.331
TILZ
HEREH— T W=150 21% m 13.1 | B LY = 13.145
EEKE
BAKEHERT BEER B R m 16.3| 16.331 = 16.331
¢ 250 H=0.70 H=1.40 H=1.65 H=1.80
TS AKERMT CH181ry'R AT 4 1 + 1 + 1 1 = 4
to#HA ¢ 250
LY Uk AR T YL S H=100 @A 11 1+ + = 1
to#HA ¢ 250
LY Uy AR T L TFE H=150 1& 11 1+ + = 1
to#HA ¢ 250
LY Uy AET T L& H=150 1& 3 + 1+ 1 1 = 3
to#HA ¢ 250
LY Uk AR T hER H=100 1& 1 + + 1 = 1
to#HA ¢ 250
LY Uy AR T hER H=200 1& 1 + 1+ = 1
to#HA ¢ 250
LY Uy AET T &R H=300 1& 6 + 1+ 2 3 = 6
to#HA ¢ 250
LY Uy AR T &8 H=300 1& 3 + 1+ 1 1 = 3
to#HA ¢ 250
LY Uk AR T JEEB(FfZ) H=40 {& 4 1 4+ 1+ 1 1 = 4
¢ 500 H=0.70
ERARAGERGT A3 &R 1 1 = 1
XA ¢ 500
LY URIREA T L& H=200 1& 1 1 = 1
XA ¢ 500
LY URIREA T T& H=200 1& 1 1 = 1
XA ¢ 500
LY URIREA T JEEB(HfZ) H=40 @ {& 1 1 = 1
[£T])
¢ 100
EHIET®-3 TMEEEERE) m 200 20 + = 20
¢ 100
EELITD-4 TEEEERE) | m 55| 12 + 43 = 55
¢ 100
EE £ T@-1 HESE m 47, 18 + 29 = 47
¢ 100
EHIETQ-2 HESE m 19 19  + = 19
THK 55 ¢ 100
I T@-1 HESE m 100 10 + = 10
THIK 55 d 100
FELT@-2 i m 10 10+ = 10
[t8T]
BEEMRIRERA 51K W=250 +I®-3
H=2.0m 1E%{% BiA-Blik m 20/ 20 = 20
BEEMRRERA 51K W=250 +I@-2
H=25m 1E&%{% BiA-Blik m 1.9] 19 = 19
BEEMRIRERA 51K W=250 +I@-2
H=25m 2B8%{% BiA-Blik m 10 10 = 10
+T®-3 +T®@-2
TBOXREE-BET 1B R m 39, 20 + 19 = 39
t+T@-2
ITBHXREE -RMET 2B R m 10| 10 = 10




At/KE HPPE ¢ 100 4] FNVESTE RO - CHVE = 0.30
& uw 2 s | o
Bk E & B E & B E & Bk E &|FEE BRE & !
- PE 1.045 PE 1.399 PE 0.398 PE 0.782] 8 PE 0.530 4.154 0.846 5
y\:
- PE 1.397 PE 0.810 PE 0.918 PE 1.060 4.185 0.815 4
y\:
S —r U RES HPPE ¢ 100 L = 5,000 2 /N 8.339 1.661] 9




%6

fsktx EHLTHY &t g ==
- i - E WD - i - E E WD
+T D4 +T @-1
Sy IREEE A (1) Ay IREEE A (1)
IP.1 — 0.62 — — 0.62 — —
1.200 0.62 0.62 0.744 0.836 0.62 0.62 0.518
0.392 0.70 0.66 0.259
0.572 0.70 0.70 0.400
Sy IREEE A IX(2) Sy IREEE A IX(2)
SP — 1.33 — — 1.40 —
IP.1 1.250 1.33 1.33 1.663 2.900 1.25 1.33 3.857
IP.2 1.425 1.40 1.37 1.952
IP.2+1.625 1.625 1.40 1.40 2.275
& F 5.500 6.634 & F 4.700 5.034
T THE = 5.500 m T THE = 4.700 m
SRR = 6.634 = 5.500 = 1.21 m SRRy = 5.034 = 4.700 = 1.07 m

UNCVYISEIIN LRSS SR & =t



ikt

%6

oo St ) iFrR &
; e DA A ; e DA A
L R O 727 2 N A | I el O s 27 N 2 1 AL
+T @2
Sy IR ERII(2)
1.25 —
0.500 1.80 1.53 0.765
1.420 1.80 1.80 2.556
& 3 1.920 3.321 o 2 _
TTER = 1.920 m T TIERE —
Y = 3.321 = 1.920 = 1.73 m ) R

UNCVYISEIIN LRSS SR & =t



T I ¥ R K i %
No. 2 NO. 1 TI®D-3 NO. 2 TID-4 NO. 3 TI®@-1 NO. 4 TI®@-2 NO. 5 TI@-1 NO. 6 TI@-2 NO. 7 NO. 8
100mmHPPEEE K & 2.0 “EE L 5.5 “EE L 4.7 “EE L 1.9 “EE L 1.0 “EE L 1.0 “EE L “EE L “EE L
SEE L SEE L SEE L SEE L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 4.00 2.00 11.00 2.00 9.40 2.00 3.80 2.00 2.00 2.00 2.00 32.20 )¢ 32)
SEUMT t=15cmA T m
AsEiZEhR 0.90 1.80 0.60 3.30 0. 60 2.82 0.90 1.1 0.90 0.90 1.00 1.00 11.53 )| ( 12)
SHERREFA T [t=10cmA T m2
BHO. 28m3 1.51 3.02 0.74 4.07 0.70 3.29 1.65 3.14 0.97 0.97 2.18 2.18 16.67 )| ( 20)
AR R T ME L m3
BHO. 28m3 0.28 0.56 0.19 1.05 0.19 0.89 0.28 0.53 0.55 0.55 0.61 0.61 4.19)|( 4)
HHERT BER m3
BHO. 28m3 0.95 1.90 0.37 2.04 0.44 2.07 1.26 2.39 0.33 0.33 1.47 1.47 10.20 )| ( 10)
HERT HESL m3
(RC-40) 0.90 1.80 0. 60 3.30 5.10 ) ( 5)
TREERET t=15cm m2
(RC-30) 0. 60 2.82 0.90 1.1 0.90 0.90 1.00 1.00 6.43 )| ( 6)
TRERET t=10cm m2
(RM-30) 0.90 1.80 0.60 1.80 ) ( 2)
LRERET t=15cm m2
(RM-30) )¢ )
LRERET t=10cm m2
B4R A s20mm 0.90 1.80 0. 60 3.30 5.10 )| ( 5)
B R 18 16 t=5cm m2
BAFHLA s20mm 0.90 1.80 0. 60 3.30 5.10 ) ( 5)
B R 18 16 t=5cm m2
BAEZH As13mm 0. 60 2.82 0.90 1.1 0.90 0.90 1.00 1.00 6.43 )| ( 6)
B R 18 16 t=3cm m2
BitunT 0.45 0.90 0.33 1.82 0.21 0.99 0.25 0.48 0.60 0.60 0.55 0.55 5.34)|( 5)
(£8) 41DT m3
RitunT 0.09 0.18 0.06 0.33 0.02 0.09 0.03 0.06 0.03 0.03 0.03 0.03 0.72)|( 0.7)
(AS) 4tDT m3,
2ZAE 0.21 0.42 0.14 0.77 0.04 0.19 0. 06 0.11 0.06 0.06 0.06 0.06 1.61 ) ( 1.6)
ASH% t
HEEE (EE) 0.90 1.80 0. 60 3.30 5.1
HREREIR (5-5-15-15) m2,
HEEE (&RE) 0.90 1.80 0. 60 3.30 5.1
HREREIR (5-5-15-15) m2,
HESE 0.60 2.82 0.90 1.1 0.90 0.90 1.00 1.00 6.4
HRE{REIR (3-10) m2,

RBRKELREEE RE=REHH




+ I # it B =
No, 1
WA =  (@D-3 HPPE#100 L= 2.0 m
Bt = jnEdE (EXWE)  H= 1.65 m (FE)
sERE = 0130 X 0130 X x / 4 = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.90 = m2 0.90
et 1. BHO.28m3
- E A - FEE A 1.00 X 0.90 X( 1.78 — 0.10 )= m3 1.51
HIRZ T. BHO.28m3
LRI AT 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
LN A 1.00 X 090 X 1.05 = m3 0.95
TSI T (RC-40)
t=15cm 1.00 X 0.90 = m2 0.90
LS T (RM-30)
t=15cm 1.00 X 0.90 = m2 0.90
FRIETIE I (A 1 As20mm, A 7))
t=5cm 1.00 X 0.90 = m2 0.90
BEIBTITE IH (A # T As20mm, A 77)
t=5cm 1.00 X 0.90 = m2 0.90
T 1. 4DT wmElE WAL
FEAS 172 1.51 —( 095 = 0.90 )= m3 0.45
FELH T 4tDT
FEAS TAT7 W% 1.00 X 090 X 0.10 = m3 0.09
BN
TAT7 /iR 0.09 X 235 = t 0.21

LEERKELEES XA =REHT




+ I # it B =
No, 1
WA =  (@D-4 HPPE$100 L= 55 m
Bt = nEdE (W) H= 1.21 m (FE)
sERE = 0130 X 0130 X x / 4 = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.60 = m2 0.60
et 1. BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 1.34 — 0.10 )= m3 0.74
HEEZ 1. BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.61 = m3 0.37
TSI T (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
LS T (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
FRIETIE I (A 1 As20mm, A 7))
t=5cm 1.00 X 0.60 = m2 0.60
BEIBTITE IH (A # T As20mm, A 77)
t=5cm 1.00 X 0.60 = m2 0.60
T 1. 4DT wmElE WAL
FEAS 172 0.74 —( 0.37 = 0.90 )= m3 0.33
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.10 = m3 0.06
BN
TAT7 /iR 0.06 X 235 = t 0.14

LEERKELEES XA =REHT




H
H
32
il
o
o
i

No,2
Wrigids = @-1 HPPE$100 L= 4.7 m
B B = TEAE H= 1.07 _m (F#)
sERE = 0130 X 0130 X x / 4 = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 1.20 — 0.03 )= m3 0.70
HHECT BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
1. BHO.28m3
LN A 1.00 X 0.60 X 0.74 = m3 0.44
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm X = mZ2
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 4tDT mElt+ mHEt
FEAS 177 0.70 —( 0.44 = 0.90 )= m3 0.21
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.03 = m3 0.02
BN
TR/ 0.02 X 215 = t 0.04

LEERKELEES XA =REHT



T I #% E & & EBE
No,3
WA =  (©@-2 HPPE$100 L= 1.9 m
P&t = il A H= 1.73 _m (‘F5)
sERE = 0130 X 0130 X x / 4 = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.90 = m2 0.90
AT BHO.28m3
- E A - FEE A 1.00 X 0.90 X( 1.86 — 0.03 )= m3 1.65
T BHO.28m3
LRI AT 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
LN A 1.00 X 090 X 1.40 = m3 1.26
AT (RC-30)
t=10cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=12cm X = mZ2
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
FELH T 4tDT EELT WAL
FEAS 177 1.65 —( 1.26 = 0.90 )= m3 0.25
FELH T 4tDT
FEAS TAT7 W% 1.00 X 090 X 0.03 = m3 0.03
BN
TAT7 /iR 0.03 X 215 = t 0.06

LEERKELEES XA =REHT




T I #% E & & EBE
No,4
WA =  @-1 DIPg100 L= 1.0 m (FHADIE)
B B = ifrE A H= 0.70 m
gEHEEE = 0120 X 0120 X x / = 0.011
BEHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 0.90 = m2 0.90
AT BHO.28m3
- E A - FEE A 1.00 X 090 X ( 1.12 — 0.03 )— 0.011 =| m3 0.97
T BHO.28m3
LN AL 1.00 X 090 X 0.62 — 0.011 = m3 0.55
PHECT BHO.28m3
LN A 1.00 X 090 X 0.37 = m3 0.33
AT (RC-30)
t=10cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=12cm X = mZ2
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
LG T 4DT Al AL
FEAS 177 0.97 —( 0.33 = 0.90 )= m3 0.60
FELH T 4tDT
FEAS TAT7 W% 1.00 X 090 X 0.03 = m3 0.03
EIN
TAT7 /iR 0.03 X 215 = t 0.06

LEERKELEES XA =REHT



T I #% E & & EBE
No,5
WA =  @-2 DIPg100 L= 1.0 m (FHADIE)
B B = ifrE A H= 1.80 m
gEHEEE = 0120 X 0120 X x / = 0.011
BEHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- E A - FEE A 1.00 X 1.00 X( 2.22 — 0.03 )— 0.011 =| m3 2.18
T BHO.28m3
LRI AT 1.00 X 1.00 X 0.62 — 0.011 = m3 0.61
PHECT BHO.28m3
LN A 1.00 X 1.00 X 1.47 = m3 1.47
AT (RC-30)
t=10cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=12cm X = mZ2
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT Al AL
FEAS 177 2.18 —( 1.47 = 0.90 )= m3 0.55
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.03 = m3 0.03
EIN
TAT7 /iR 0.03 X 215 = t 0.06

LEERKELEES XA =REHT



VLP 6 5OmmBFKEMRT HESTES

=% VLP ¢ 50mm:L=2.365(1.815) m~+4.065(2.315) m=6.430(4.130) m
T #1:0.70m-1.80m NO., 2
g 4 R A
I/ £ & FBHKTE Bl % 8 BHE =
H#
RUIFLUER (2) 0135 0135 x( 1+ 1 + ) = 0270
MUY FF-R $100x $50 75K &
0500 + 1000 + 0550 +
BEEELE NI -y S ¢ 50 m 5.8 0500 + 1200 + 1500 + 0.550 = 5.800
BRI RI7 IR ¢ 50 & 10 5 + 5 + = 10
BB RI7=y7 N ¢ 50 1& 2 [ S B = = 2
BimFRITI7Y ¢ 50 1& 2 1 + 1 + = 2
RS ERHA
ML -METF $50 7.5K & 2 0.180 0180 x( 1 + 1 + ) = 0360
MILAY
FCD&774Y $50 10K " 2 1T+ 1+ = 2
RF-GF3k R To# To#
750V MFMH $50 10K Utyb #H 2 1 + 1 + . 2
)7 FRFREH Ry T# To#
750V EE R $50 10K SUS | #A 2 1T+ 1+ = 2
Ry H=1000 X 1 1 + = 1
EEEE = 6.430

RELER &

EHRT—F W=50 m 6.1 6430 - 0.300 = 6.130
TEZER BE
HEAESE—F W=150 2% m 338 4130 - 0300 = 3830
¢ 250 H=0.70 H=1.80

Tt FAS%E CH181ry'R % 2 1T+ 1 = 2
tusHA ¢ 250

LY Uk IR BFEYLYS H=50 A + =
tu#HA ¢ 250

LY Uik'yhR YL S H=100 @A 1 1+ = 1
tu#HA ¢ 250
LY UiRy) R L TEREE H=150 @ {&@ 1 1+ = 1
tusHA ¢ 250
LY VR )R L FEEE H=300 | {&@ + =
tu#HA ¢ 250
LY Uik )R LEREE H=150 1& 1 + 1 = 1
tu#HA ¢ 250
LY VR )R thEREE H=100 1@ + =
tusHA ¢ 250
LY VR )R thEREE H=200 1& + =
tusHA ¢ 250
LY Uik'yhR hEREE H=300 1& 3 + 3 = 3
tu#HA ¢ 250
LY Uik'yhR EREE H=300 1& 1 + 1 = 1
tu#HA ¢ 250

LY Uik'yhR JEEB(FfZ) H=40 {& 2 1 + 1 = 2




VLP ¢ SOmmBFKEMRT HEFTES

=% VLP ¢ 50mm:L=2.365(1.815) m~+4.065(2.315) m=6.430(4.130) m
T #1:0.70m-1.80m NO., 2
g 4 R A
TiE £ & FBHKTE Hl % 8 =
[#EHT) To# &F
FE ISUCHFET $50 10K m] 4 2+ 2 = 4
HORFET ¢ 50 - 2l 2 = 2
0500 + 1000 + 0550 +
MOBRFEERAT ¢ 50 m 58 0500 + 1200 + 1500 + 0.550 = 5.800
TERHK
NOREEMT ¢ 50 a 77 = 1
Rty YIEARH
INOZRESHFET @ 50 [m] 14 7 X 2 = 14
RLA#HEE LK
INOZRESHFET @ 50 [m] 10 10 = 10
ERRT—IT W=50 m 6.1 BEME LY = 6.100
HEREH— T W=150 21% m 3.8 E#tHLY = 3.800
HEkQ) HEk(2)
EAKHEBRT BEE% B iR m 6.4 2365 + 4065 = 6.430
¢ 250 H=0.70 H=1.80
SO FRAKERGT CR1FAY K &R 20 1+ 1 = 2
tus#HA ¢ 250
LY Uk AR T YL S H=100 @A 11 1+ = 1
tusHA ¢ 250
LY Uy AR T L TFE H=150 1& 11 1+ = 1
tU#HA ¢ 250
LY Uy AET T L& H=150 1& 1 + 1 = 1
tus#HA ¢ 250
LY R )RR T &R H=100 & + =
tu#HA ¢ 250
LY R )RR T thER H=200 & + =
tU#HA ¢ 250
LY Uy AET T &R H=300 1& 3 + 3 = 3
tU#HA ¢ 250
LY Uy AR T T H=300 1& 1 + 1 = 1
tu#HA ¢ 250
LY Uk AR T JEEB(FfZ) H=40 {& 20 1+ 1 = 2
[£T])
¢ 50
EElET2-3 HiESE m 39 17+ 22 = 39
wy-+T
200 X 200 X 100 VLP ¢ 50-2&Fr
-t 0260 X 0260 X 0600 — VLP ¢ 50
18N-8-20 m3 | 0.039 0060 x 0060 X m . 4 x 0600 = 0039 | 1A%y
BT 0260 x 0600 X 2 + 0260 x 0260
INBURETEY) m2 0.37 — 0060 X 0060 X gm S 4 x 2 = 0374
wy-+T
18N-8-20 m3 008 0039 x 2 = 0.078
BT
INBURETEY) m2 075 0374 x 2 = 0748




%6

hZxtT Iyt HY &t " =3
; e DA A ; e DA A
iy g
W o= | ®% Mrgn T v [ e ™ % || W %] BF Mrgor v T mm] ™%
+T @-3
P SRR ()
0.70 —
0.815 0.70 0.70 0.571
1.000 0.60 0.65 0.650
P A (2)
1.80 —
0.815 1.80 1.80 1.467
1.500 0.60 1.20 1.800
& 3 4.130 4.488 o 2
T THE = 4.130 m T THE = m
S HRY = 4.488 <+ 4.130 = 1.09 m EH Y = m

UNCVYISEIIN LRSS SR & =t



No. 2 0. 1 +I®@-3 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
100mmHPPEEE K & 3.9 =EERL SEE L SEE L 0.0 =EEL 0.4 =EEL SEE L SEE L SEE L
SER L SER L SER L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsFHZERR 2.00 7.80 7.80)][( 8)
SEUMT t=15cmA T m
AsEZhR 0. 60 2.34 2.34)| 7)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.67 2.61 2.61)]( 3)
AR R T HE+ m3
BHO. 13m3 0.15 0.59 0.59 )| ( 0.6)
HHERT BER m3
BHO. 13m3 0.46 1.79 1.79) ( 2)
HERT HESL m3
(RC-40) )¢ )
TREERET t=15cm m2
(RC-30) 0.60 2.34 2.34)|( 2)
TRERET t=10cm m2
(RM-30) K )
LRERET t=15cm m2
(RM-30) )¢ )
LRERET t=10cm m2
B4 K A s20mm K )
B R 18 16 t=5cm m2
B R As20mm K )
B R 18 16 t=5cm m2
BAZTHLAs13mm 0.60 2.34 2.34)|( 2)
B R 18 16 t=3cm m2
BitunT 0.16 0.62 0.62 )| ( 0.6)
(£8) 2tDT m3
RitunT 0.02 0.08 0.08 )| ( 0.1)
(AS) 2tDT m3,
ZAE 0.04 0.16 0.16 )| ( 0.2)
ASH% t
TEEE (EE)
HREREIR (5-5-15-15) m2,
TEEE (RE)
HREREIR (5-5-15-15) m2,
HESE 0.60 2.34 2.3
HRE{REIR (3-10) m2,

RBRKELREEE RE=REHH




+ T it B =
No,3
s =  @-3 VIP$50 L= 3.9 m
P&t = il A H=_1.09 m (‘F%)
sEHEE = 0060 X 0060 X x / 4 = 0.003
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
PLERIE 1. BHO. 13m3
AsEERERR t=10cmbd 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
- E A - FEE A 1.00 X 0.60 X( 1.15 — 0.03 ) m3 0.67
T BHO. 13m3
LRI AT 1.00 X 0.60 X 0.26 — 0.003 m3 0.15
HEECT BHO. 13m3
LN A 1.00 X 0.60 X 0.76 = m3 0.46
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm X = mZ2
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 2tDT EELT WAL
FEAS 177 0.67 —( 0.46 = 0.90 )= m3 0.16
FELH T 2tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.03 = m3 0.02
BN
TAT7 /iR 0.02 X 215 = t 0.04

LEERKELEES XA =REHT




HNERET BEBHES
18 O H AR (EH). IN=3)

fER M T4 Y:1.20m NO.
g 4 R
IiZ £ FBHKTZE By % £ | B4R 1w _Z
GXF 7.5K-F =2 BRER
#H# 13UV HTEE 400 % ¢ 75 ] 3| 0.465 0465 x( 3  + ) = 1.395| Eaie
SUS304BN - 1" L - 17k BERER0
GXI; EREREEIS& ¢ 400 8 3 3 = 3
¢ 75 RSV E A REH
RBIBERERE AR BO-7.5K b 3 3+ = 3
¢ 75-H150-7.5K - Fs =2
K -LEEESR FCD [N EMA -S| 3 3+ = 3
75K-fs 2
840770 EE ¢ 75-H=500 & 3 3 + = 3
RF-GFZ A2
75990 Ak @75 7.5K L4 3 3+ = 3
GFI AryM B
770V F SUS304BN-7.5K | #A 6 6+ = 6
wWwEeRA

790V e R b5 & 3 3+ = 3

Ry H=300 7 3 3+ = 3
¢ 500

HAERASE A#3E ® 3 3 = 3
SHKAEH ¢ 500

LWL L& H=200 & 3 3 = 3
SHKAEH ¢ 500

L WYL &8 H=300 & 3 3 = 3
SHKAEH ¢ 500

L WYL T & H=500 & 3 3 = 3
SHKAEH ¢ 500

LY uik'y9R [EER (M) H=40 | & 3 3 = 3




HNERET HEBHES
18 O H AR (EH). IN=3)

ER & #Y:1.20m NO, 5
g 4 R
TiE £ K TZE S % & H %
FE (ERT]
EREES EREEENR
GXFz #F T ¢ 400 (517 3 3 = 3
BO
HARERET b5 H 3 3 HXEE - FEE = 3
ISUCHET @75 7.5K m} 6| 6 FE® - #WIEHF - FETE = 6
¢ 500
HANERASERMT MR35 G331 3] 3 = 3
HAEA ¢ 500
LYk IR T E& H=200 & 3] 3 = 3
HAEA ¢ 500
VY uR AR T th &8 H=300 & 3| 3 = 3
HAKEA ¢ 500
VY uR AR T T & H=500 & 3 3 = 3
HAEA ¢ 500
VY uR AR T JEE(Ff2) H=40 | & 3] 3 = 3

X Bl Ef 1§15cm m 6] 21 x 3 = 63 |HiEAY




HHRERE HEBFHES
ST O MADIP ¢ 500:L=212.0m, #%DIP ¢ 400;L=78.5m, DIP ¢ 100:L=5.8m

EA4£DIP ¢ 500mm: L=20.0m. DIP ¢ 400mm:L=7.0m

ER S Y:1.10m~1.20m NO.
& 4 R
I/ g _# KT Hir % & B _Z
HG%ER
H# Tk S F $ 400 H® 2 2 = 2
1600 x 1.600 x 1.600 = 4096
E =MD 1.60x1.60x1.60 |@FT 1 B 0319 x 1.600 X = 0510 3586, *+IB
avyy—k 18-8-20 m3 4 3586 + = 3590
Bk 5% [y AL 3 8
K& &g ¢ 400 LE] 3 3 = 3
Bk 5% [y AL 3 8
K& &g ¢ 500 & 1 1 = 1
IS5UTE $100 F=H1 & 2 2 = 2
¢ 100RF- GF3R A Afyh
770V BF SUS304BN-7.5K | #H 2 2 = 2
=
FE [#£T)
K S # HHG%ER
HET $ 400 AT 2 2 = 2
avyy—k 18-8-20 m3 4 36 = 36
BhEEa> o) —k Ll:0T:1) 1600 X 1.600 x 2 = 5120
by ] 160X 1.60%x1.60 | m2 10.0 2R 1600 X 1.600 X 2 = 512 +I6
0.145 x 2 = 0290 EERR
5120 + 5120 — 0.290 = 9.950
R (15%18L) KE! &g
ANZHIVHBET ¢ 400 [m] 3 3 = 3
R (15%18L) KE! &g
ANZHIVHBET ¢ 500 [m] 1 1 = 1
TSUUHFERMALT ¢ 100 a 2 2 = 2
ISUTHET ¢ 100 [m] 2 2 = 2
BEEREMET 85 E ¢ 500 m | 212.0 212.000 + = 212.000
BERERET FREXE ¢ 400 m 785 78500 + = 78500
BEEREMET HERE ¢ 100 m 5.8 3300 + 2500 = 5800
g
B ERETRT ¢ 500 =] 72 212000 + 30 m/0 + 2 = 72
g
B ERETRT ¢ 400 =] 30 78500 + 30 m/O + 4 = 30
=
BHHERETNT $100 =] 3 5800 <+ 30 m/O + 2 = 3
%D 4=v9"
HEEERLE E=RE Bl 10
29597 t | 33.660 33.660
[FA#T)
ELZLFET FREXE ¢ 500 m 20.0 20000 + = 20.000
(REHE) m® | (3.93) 7/4 x 050° X 20.0 = 3927
$EEE ¢ 400 m 7.0 7000 + = 7.000
(REHE) m® | (0.88) /4 X 0.40° X 7.0 = 0880
&5t 481




el HEHES

18- 0% FEDIP ¢ 500: L=212.0m, #F=DIP ¢ 400:L=78.5m, DIP ¢ 100:L=5.8m

EA4£DIP ¢ 500mm: L=20.0m. DIP ¢ 400mm:L=7.0m

R HY:1.10m~1.20m NO. 3
& 4 R
I/ g _# BRTZE g % & B _Z
23
&
[£T]
@500 FEE
BRI L TO-1 TMEEEERR) | m | 2120] 2120 212.0
¢ 400 FEH
EHILTO@-2 MEEEERR) | m 13.0 3.0 10.0 13.0
100 FEE
ERILTO®-3 MEEEERR) | m 39 1.7 2.2 39
@400 FEE
BRI T@-1 miESE m 655 655 65.5
$ 100 FEH
ERI L T@-2 hELHE m 1.9 1.6 03 1.9
B St ¢ 400
EHLTO TMEEEERE m 22 22 1 &R 2.2
B St ¢ 400
EHLT® TMEEEERE m 22 22 1 & 2.2
[t88T])
ZEHRRERA 51K W=250 +T@1 *I@2 TI®-1
H=2.0m 1% A5k m 2905 212.0 130 + 655 290.5
ZEMARLIBT W=250 +I6 +I®
H=25m 2E¥X{& EiA-5liR m 44 22 2.2 44
+IO-1 +TO-2 T+ T-1
TROZRERE-HET 25353 m 2905 2120 130 + 655 290.5
+I® +I®
TEBORREE-BET 2BEX R m 44 22 2.2 44
BEE% ¢ 250
TUFRBERET A& % 4 1 1 + 1 + 1 4
BEER Lt A ¢ 250
LY URYIAET L& H=150 & 20 1 1 + + 2
BEER Lt A ¢ 250
LY URYIAET hEf H=200 & 20 1 1 + + 2
BEER Lt A ¢ 250
LY URYIAET T# H=300 & 20 1 1 + + 2
BEER Lt A ¢ 250
LY URYIAET JEER () H=40 | & 20 1 1 + + )
BEER Lt A
WY -MERBET ¢ 250 x H150 & 10 + 5 + 5 10
BEER Lt A
WH-MEEBET ¢ 250 X H100 LE] 2 + 1 + 1 2
BEE% 500 x 400
ERARABERET =52 20 1 1 + + )
BEE%
TERAEABEHMET | 0500x400x H150 | & 12 6 6 + + 12
BEE% 500 x 400
HXERASERET =52 30 1 1 + 1 + 3
BEE%
HARRASERET | 0500x400x H150 | & 18 6 6 + 6 + 18




T I % B % B =

No. 3 NO. 1 T TO-1 NO. 2 +TO-2 NO. 3 +T©-3 NO. 4 1 Ta0-1 NO. 5 T Ta0-2 NO. 6 +I® NO. 7 +I® NO. 8
Rt 2120 =%E L 13.0  =@EE L 3.0 =EE L 65.5 =g L 1.9 =EE L 1.0 =EE L 1.0 =Pk =& N
“EE L “EE L “EE L “EE L “EE L “EE L =@ =&ifr N
& 7 i % & & BERE
AsEZERR 1.00 212.00 1.00 13.00 2.00 7.80 2.00 131.00 2.00 3.80 8.40 8.40 8.40 8.40 (384.40 )] ( 380 )
SEYMT t=15cmA T m
As&#2ERR BHO. 45m3 1.05 222. 60 0.95 12.35 0. 60 2.34 0.95 62.23 0. 60 1.14 4. 40 4.40 4.40 4.40 (309.46 ) ( 309 )
SRR T |t=10cmA T m2
BHO. 45m3 1.49 315.88 1.31 17.03 0.72 2.81 1.28 83.84 0.76 1.44 8.97 8.97 7.08 7.08 ( 437.05 )] ( 440 )
AR ERHE T Myt m3
BHO. 45m3 2.23 2.23 4.21 4.21 ( 6.44 ) ( 6)
HWIERET  |HEW m3
BHO. 45m3 1.40 296. 80 1.17 15. 21 0.55 2.15 1.33 87.12 0.7 1.35 1.64 1.64 3.52 3.52 (407.79 ) ( 410)
HWHERT FAEL m3
(RC-40) 1.05 222. 60 0.95 12.35 0. 60 2.34 4.40 4. 40 4.40 4.40 (246.09 )| ( 246 )
TREET t=15cm m2
(RG-30) 0.95 62.23 0. 60 1.14 ( 63.37)]( 63 )
TREET t=10cm m2
(RM-30) 1.05 222. 60 0.95 12.35 0. 60 2.34 4.40 4. 40 (241.69 ) ( 242 )
TERET t=15cm m2
(RM-30) 4.40 4. 40 ( 4.40 )| ( 4)
TERET t=22cm m2
BAEZH As13mm 0.95 62.23 0. 60 1.14 ( 63.37)]( 63 )
B {518 t=3cm m2
B4 A A s20mm 1.05 222. 60 0.95 12.35 0. 60 2.34 2.00 2.00 (239.29 )]( 240 )
PR {818 t=5cm m2
BAZH As20mn 1.05 222. 60 0.95 12.35 0. 60 2.34 2.00 2.00 4.40 4.40 (243.69 ) ( 240 )
R {1818 t=5cm m2
RitunT -0.07 -14.84 0.01 0.13 0.1 0.43 |-0.20 -13.10 -0.03 -0.06 7.15 7.15 3.17 3.17 ( =17.12)]( -20 )
(£8) 41DT m3
EER Y 0.1 23.32 0.10 1.30 0.06 0.23 0.03 1.97 0.02 0.04 0.44 0.44 0.44 0.44 ( 27.74)]( 28 )
(AS) 4tDT m3
2ZAE 0.26 55.12 0.24 3.12 0.14 0.55 0.06 3.93 0.04 0.08 1.03 1.03 1.03 1.03 ( 64.86)( 64.9 )
AS7% t
TEEE (EE) 1.05 222. 60 0.95 12.35 0. 60 2.34 2.00 2.00 239.3
ERE{REIR (6-5-15-15) m2
TEHEE (RE) 1.05 222. 60 0.95 12.35 0. 60 2.34 2.00 2.00 4.40 4. 40 243.7
ERE{REIR (6-5-15-15) m2
TiESE 0.95 62.23 0. 60 1.14 63.4
ERE{REIR (3-10) m2

BEBRKELREEE MEE=REBH



T I % E H F &
No, 1
W& sE =  (@-1 DIP$500 L= 212.0 m
Brigib B = A H= 1.20 m
BHEER = 0530 X 0530 X =z /[ = 0.221
grf%:b/)j? = X X V4 / —
Im2%40
% B i & Z o # o= g =
BT
AsBHEER t=15cmlL 1.00 X 1 = m 1.00
ZHIEIR T BHO.45m3
AsBFIERK t=10cml{ 1.00 X 1.06 = m2 1.05
AT, BHO.45m3
P A B 1.00 X 1.05 X( 1.73 — 0.10 )— 0.221 =| m3 1.49
HHE 1. BHO.45m3
SLNFED  FAERY m3
HHEE 1. BHO.45m3
SNGIED FEE A 1.00 X 1.05 X 1.33 = m3 1.40
FEEAE T (RC-40)
t=15cm 1.00 X 1.05 = m2 1.05
LB EAR T (RM-30)
t=15cm 1.00 X 1.05 = m2 1.05
BEIETIR 8 I (FEAHFFASs20mm, A 7))
t=bcm 1.00 X 1.05 = m2 1.05
BEIETIR B I (A, ASs20mm, A 7))
t=bcm 1.00 X 1.05 = m2 1.05
FEL G T ADT malt+  wmHT
FHiAG L4 1.49 —( 1.40 = 0.90 )= m3 -0.07
FEL A T ADT
FFRL FATr/ bR 1.00 X 1.06 X 0.10 = m3 0.11
ZNE
TA7 7Nk 0.11 X 235 = t 0.26

LEERKELEES EEEA=REHRT




T I % E H F &
No,2
Wiz s =  @-2 DIP$400 L= 13.0 m
Brigib B = A H= 1.20 m
R = 0430 X 0430 X 1/ = 0.145
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o # o= g =
EHIELI T
AsBHEER t=15cmlL 1.00 X 1 = m 1.00
TR T. BHO.45m3
AsEELEIR t=10cmbl T 1.00 X 0.95 = m2 0.95
AT, BHO.45m3
W A PEE A 1.00 X 0.95 X( 1.63 — 0.10 )— 0.145 =| m3 1.31
FAEZ 1. BHO. 45m3
SLNFED  FAERY m3
FAEZ 1. BHO. 45m3
SN A A 1.00 X 0.95 X 1.23 = m3 1.17
FEEAE T (RC-40)
t=15cm 1.00 X 0.95 = m2 0.95
LB EAR T (RM-30)
t=15cm 1.00 X 0.95 = m2 0.95
BEIETIR 8 I (FEAHFFASs20mm, A 7))
t=bcm 1.00 X 0.95 = m2 0.95
BEIETIR B I (A, ASs20mm, A 7))
t=bcm 1.00 X 0.95 = m2 0.95
FEL G T ADT malt+  wmHT
FHiAG L4 1.31 —( 1.17 =+ 0.90 )= m3 0.01
FEL T ADT
FEAS TR77/ P 1.00 X 0.95 X 0.10 = m3 0.10
ZNE
TAT7 /b’ 0.10 X 2.35 = t 0.24

LEERKELEES EEEA=REHRT




T I % E H F &
No, 3
Wik s = @-3 DIP$100 L= 3.9 m
Brigib B = A H= 1.20 m
R = 0120 X 0120 X 1 / = 0.011
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o # o= g =
EHIELI T
AsBHEER t=15cmlL 1.00 X 2 = m 2.00
TR T. BHO.45m3
AsEELEIR t=10cmbl T 1.00 X 0.60 = m2 0.60
AT, BHO.45m3
W A PEE A 1.00 X 0.60 X( 1.32 — 0.10 )— 0.011 =| m3 0.72
HIEE T BHO.45m3
SLNFED  FAERY m3
IR T. BHO. 45m3
B NG FEAE A 1.00 X 0.60 X 0.92 = m3 0.55
TS T (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BEIETIR 8 I (FEAHFFASs20mm, A 7))
t=bcm 1.00 X 0.60 = m2 0.60
BEIETIR B I (A, ASs20mm, A 7))
t=bcm 1.00 X 0.60 = m2 0.60
FEL G T ADT malt+  wmHT
FirA 1 0.72 —( 055 + 0.90 )= m3 0.11
FEL T ADT
FEAS TR77/ P 1.00 X 0.60 X 0.10 = m3 0.06
ZNE
TAT 7N EE 0.06 X 235 = ¢ 0.14

LEERKELEES EEEA=REHRT




T I % E H F &
No,4
Wik s = @-1 DIP$400 L= 655 m
Brigib B = A H= 1.10 m
B = 0430 X 0430 X =z /[ = 0.145
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o # o= g =
EHIELI T
AsBFIERK t=15cmll 1.00 X 2 = m 2.00
ZHIEIR T BHO.45m3
AsEELEIR t=10cmbl T 1.00 X 0.95 = m2 0.95
AT, BHO.45m3
P A B 1.00 X 0.95 X( 1.53 — 0.03 )— 0.145 =| m3 1.28
HET. BHO.45m3
SLNFED  FAERY m3
HET. BHO. 45m3
SN A A 1.00 X 0.95 X 140 = m3 1.33
FE AR T (RC-30)
t=10cm 1.00 X 0.95 = m2 0.95
LB EAR T (RM-30)
t=22cm X = mZ2
BEIETIR B I (B #FAs13mm, A 7))
t=3cm 1.00 X 0.95 = m2 0.95
FE LT 4tDT malt+  WHEt
FHiAB 4P 1.28 —( 1.33 = 0.90 )= m3 -0.20
FEL T ADT
FERS TA77/ i 1.00 X 0.95 X 0.03 = m3 0.03
ZNE
TAT 7N EE 0.03 X 215 = ¢ 0.06

LEERKELEES EEEA=REHRT




T I % E H F &
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